Guess Paper – 2008

Class – X

Subject - Mathematics

12. Matrices   

Question – 1.

  Find x and y if 


        3     -2       2x            -4            2

                                  +2           =4                                 

        -1     4        1              5            y                  

  Solution -   


         3×2x + (-2)×1        -8            8

0r,                               +          =

          (-1)×2x +4×1        10           4y   


               6x - 2 - 8                             8

  or,                                            =

            -2x + 4 +10                           4y


             6x -10                                     8                                                                                           or,                                                 =

            -2x+14                                    4y

or,6x – 10 = 8…………..(i)

and – 2 x +14 = 4y………(ii)

From(i), 6x – 10 = 8

             or,    6x  = 18

              or,      x = 3       [Ans.]

From(ii), – 2x +14 = 4y

              or,        4y = – 2 ×3 + 14 = 8

              or,          y = 2         [ Ans.]                                             

Question – 2. 

        Evaluate without using tables :  

                                                                                      

                      2 cos 60º              – 2 sin 30º                 cot 45º         cosec 30º                           

                       – tan 45º                 cos 0º                      sec 60º            sin 90º                               

Solution :-                                                                                                                                   

                      2 cos 60º             – 2 sin30º                     cot 45º           cosec 30º                           

                       – tan 45º                  cos 0º                       sec 60º             sin 90º                            

                   

                          2 × 1/2      – 2 × 1/2                1             2                                                   

                   =                                                                                                                                          

                             – 1                1                      2            1      [From Trigonometry]                 

                                 1           – 1              1             2                                                                            

                   =                                                                                                                                      

                               – 1              1              2             1                                                                

                                                                                                                                                      

                                   1 × 1 + (– 1) × 2            1 × 2 + (– 1) × 1                                                       

                   =                                                                                                                                  

                                  (– 1) × 1 + 1 × 2            (– 1) × 2 + 1 × 1                                                               

                               – 1          1                                                                                                              

                     =           

                                  1         – 1                       [Ans.]                                                                  

Question – 3.                                                                                                                              

                            2      –1             –3         2                         1        0                                 

Given  A =                            B =                        and  C =                        

                            2        0               4         0   ,                      0        2                                              

find the matrix X such that A + X = 2 B + C.                                                                          

Solution :-                                                                                                                             

                   A + X = 2 B + C                                                                                                         

Or,                     X = 2 B + C – A                                                                                         

                                                                                                                                                    

                                     –3           2             1             0            2           –1                                             

                             = 2                        +                           –                                                            

                                       4           0             0              2           2             0                                         

                                                                                                                                                           

                                      –6           4             1              0            2          –1                                    

                             = 2                         +                           –                                                     

                                        8           0              0              2            2            0                                 

                                                                                                                                                         

                                        –6 + 1 – 2            4 + 0 – (–1)                                                                

                              =                                                                                                                

                                          8 + 0 + 2            0 + 2 – 0                                                     

                                            –7        5                                                                                                 

                               =                                                                                                                           

                                              6         2          [Ans.]                                                         

